

International Journal Research Publication Analysis

Page: 01-08

ON CUBIC EQUATION WITH FOUR UNKNOWNNS

$$x^3 + y^3 + 2(x + y)(x - y)^2 = 22zw^2$$

J. Shanthi^{1*}, M. A. Gopalan²

¹Assistant Professor, Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy- 620 002, Tamil Nadu, India.

²Professor, Department of Mathematics, Shrimati Indira Gandhi College, Affiliated to Bharathidasan University, Trichy-620 002,Tamil Nadu, India.

Article Received: 24 December 2025

***Corresponding Author: J. Shanthi**

Article Revised: 13 January 2026

Assistant Professor, Department of Mathematics, Shrimati Indira Gandhi College,

Published on: 02 February 2026

Affiliated to Bharathidasan University, Trichy- 620 002, Tamil Nadu, India.

DOI: <https://doi-doi.org/101555/ijrpa.4690>

ABSTRACT

The homogeneous cubic equation with four unknowns represented by the Diophantine equation $x^3 + y^3 + 2(x + y)(x - y)^2 = 22zw^2$ is analyzed for its patterns of non-zero distinct integral solutions.

KEYWORDS: Homogeneous cubic equation., Quaternary cubic, Integer solutions.

INTRODUCTION

The cubic diophantine equations are rich in variety and offer an unlimited field for research . For an extensive review of various problems, one may refer [1-21]. This paper concerns with another interesting cubic diophantine equation with four unknowns $x^3 + y^3 + 2(x + y)(x - y)^2 = 22zw^2$ for determining its infinitely many non-zero integral solutions.

METHOD OF ANALYSIS

The homogeneous cubic equation with four unknowns to be solved for its distinct non-zero integral solution is

$$x^3 + y^3 + 2(x + y)(x - y)^2 = 22zw^2 \quad (1)$$

Introduction of the linear transformations

$$x = u + v, y = u - v, z = u \quad (2)$$

in (1) leads to

$$u^2 + 11v^2 = 11w^2 \quad (3)$$

Different methods of obtaining the patterns of integer solutions to (1) are illustrated below:

PATTERN: 1

Equation (3) is written in the form of ratio as

$$\frac{u}{11(w+v)} = \frac{(w-v)}{u} = \frac{P}{Q}, Q \neq 0 \quad (4)$$

which is equivalent to the system of double equations

$$\begin{aligned} Qu - 11Pv - 11wP &= 0 \\ Pu + Qv - wQ &= 0 \end{aligned}$$

Applying the method of cross-multiplication to the above system of equations, we have

$$u = 22PQ, v = Q^2 - 11P^2, w = Q^2 + 11P^2 \quad (5)$$

In view of (2) , one has

$$\begin{aligned} x &= x(P, Q) = Q^2 - 11P^2 + 22PQ \\ y &= y(P, Q) = 11P^2 - Q^2 + 22PQ \\ z &= z(P, Q) = 22PQ \end{aligned}$$

which satisfy (1) along with the value of w in (5).

PATTERN: 2

Let

$$w = a^2 + 11b^2 \quad (6)$$

where a and b are non-zero integers.

Write 11 as

$$11 = (i\sqrt{11})(-i\sqrt{11}) \quad (7)$$

Using (5), (6) in (3) and applying the method of factorization, define

$$(u + i\sqrt{11}v) = (i\sqrt{11})(a + i\sqrt{11}b)^2 \quad (8)$$

from which we have

$$\left. \begin{array}{l} u = -22ab \\ v = a^2 - 11b^2 \end{array} \right\} \quad (9)$$

Using (9) and (2), the values of x, y and z are given by

$$\left. \begin{array}{l} x = x(a, b) = a^2 - 22ab - 11b^2 \\ y = y(a, b) = -a^2 + 11b^2 - 22ab \\ z = z(a, b) = -14ab \end{array} \right\} \quad (10)$$

Thus (6) and (10) represent the non-zero integer solutions to (1).

PATTERN: 3

Rewrite (3) as

$$u^2 + 11v^2 = 11w^2 * 1 \quad (11)$$

Write 1 as

$$1 = \frac{(5 + i\sqrt{11})(5 - i\sqrt{11})}{36} \quad (12)$$

Assume

$$w = 36(a^2 + 11b^2) \quad (13)$$

Using (7), (12), (13) in (11) and applying the method of factorization, define

$$(u + i\sqrt{11}v) = (i\sqrt{11}) \left(\frac{5 + i\sqrt{11}}{6} \right) (6a + i6\sqrt{7}b)^2$$

from which we have

$$\left. \begin{array}{l} u = 6(-11a^2 + 121b^2 - 110ab) \\ v = 6(5a^2 - 55b^2 - 22ab) \end{array} \right\}$$

In view of (2), the corresponding integer solutions to (1) are given by

$$\begin{aligned}
 x &= x(a, b) = 6[-6a^2 + 66b^2 - 132ab] \\
 y &= y(a, b) = 6[-16a^2 + 176b^2 - 88ab] \\
 z &= z(a, b) = 6[-11a^2 + 121b^2 - 110ab] \\
 w &= w(a, b) = 36(a^2 + 11b^2)
 \end{aligned}$$

Note: 1

It is to be noted that, in addition to (12), 1 can be expressed as below:

$$\begin{aligned}
 1 &= \frac{(11r^2 - s^2 + i\sqrt{11}(2rs))(11r^2 - s^2 - i\sqrt{11}(2rs))}{(11r^2 + s^2)^2} \\
 1 &= \frac{(2s^2 - 2s - 5 + i\sqrt{11}(2s-1))(2s^2 - 2s - 5 - i\sqrt{11}(2s-1))}{(2s^2 - 2s + 6)^2} \\
 1 &= \frac{(22s^2 - 22s + 5 + i\sqrt{11}(2s-1))(22s^2 - 22s + 5 - i\sqrt{11}(2s-1))}{(22s^2 - 22s + 6)^2}
 \end{aligned}$$

Following the above procedure, three more sets of integer solutions to (1) are obtained.

PATTERN: 4

(3) can also be written as

$$11w^2 - u^2 = 11v^2 \quad (14)$$

Let

$$11 = \frac{(6\sqrt{11} + 11)(6\sqrt{11} - 11)}{25} \quad (15)$$

Take

$$v = 25(11a^2 - b^2) \quad (16)$$

Using (15), (16) in (14) and employing the method of factorization and equating the positive parts separately, we get,

$$(\sqrt{11}w + u) = (5\sqrt{11}a + 5b)^2 \left(\frac{6\sqrt{11} + 11}{5} \right)$$

From which we have

$$\begin{aligned}
 w &= 5[6(11a^2 + b^2) + 22ab] \\
 u &= 5[11(11a^2 + b^2) + 132ab]
 \end{aligned} \quad (17)$$

In view of (2), we have the integer solutions to (1) given by

$$x = 880 a^2 + 30b^2 + 660 ab$$

$$y = 330 a^2 + 80b^2 + 660 ab$$

$$z = 605 a^2 + 55b^2 + 660 ab \quad \text{along with the value of } w \text{ given in (17).}$$

PATTERN: 5

Taking

$$u = 11U \quad (18) \text{ in (3), one has}$$

$$w^2 = 11U^2 + v^2 \quad (19)$$

Expressing (19) as the system of double equations

$$w + v = 11U^2$$

$$w - v = 1$$

And solving, we get

$$\begin{aligned} U &= 2s + 1 \\ v &= 22s^2 + 22s + 5 \\ w &= 22s^2 + 22s + 6 \end{aligned} \quad (20)$$

From (18), we get

$$u = 22s + 11$$

Substituting the above values of u and v in (2), we have

$$\begin{aligned} x &= 22s^2 + 44s + 16 \\ y &= -22s^2 + 6 \\ z &= 22s + 11 \end{aligned} \quad (21)$$

Thus, (1) is satisfied by (21) alongwith the value of w in (20).

Note: 2

Expressing (19) as the system of double equations

$$w + v = U^2$$

$$w - v = 11$$

and proceeding as above , the corresponding integer solutions to (1) are given by

$$\begin{aligned}x &= 2s^2 + 24s + 6 \\y &= -2s^2 + 20s + 16 \\z &= 22s + 11 \\w &= 2s^2 + 2s + 6\end{aligned}$$

CONCLUSION

In this paper, we have made an attempt to determine different patterns of non-zero distinct integer solutions to the homogeneous cubic equation with four unknowns. As the cubic equations are rich in variety, one may search for other forms of cubic equations with multi-variables to obtain their corresponding solutions .

REFERENCES

1. J.Shanthi,M.A.Gopalan ,“A search on Non distinct Integer solutions to cubic Diophantine equation with four unknowns $x^2 - xy + y^2 + 4w^2 = 8z^3$ ”, International Research Journal of Education and Technology,(IRJEDT), Volume2,Issue01,2021.
2. J.Shanthi., et.al,“On Homogeneous Cubic Equation with 4 unknowns $(x^3 + y^3) = 7zw^2$,” Jananabha,Vol-53(1), 165-172,2023.
3. J.Shanthi, M.A.Gopalan ,“Cubic Diophantine equation is of the form $Nxyz = w(xy + yz + zx)$ ”, International Journal of Modernization in Engineering Tech &Science, Vol-5, Issue-9, 1462-1463, 2023.
4. J.Shanthi, M.A.Gopalan,“A Search on Integral Solutions to the Non- Homogeneous Ternary Cubic Equation $ax^2 + by^2 = (a + b)z^3, a, b > 0$ ”,
5. International Journal of Advanced Research in Science,Communication and Technology, Vol-4, Issue-1, 88-92, 2024.
6. M.A.Gopalan ,S.Vidhyalakshmi ,J.Shanthi ,On the Cubic Equation with Four Unknowns $x^3 + 4z^3 = y^3 + 4w^3 + 6(x - y)^3$,International Journal of Mathematics Trends and Technology,Vol 20(1),Pg 75-84,2015
7. M.A.Gopalan,S.Vidhyalakshmi,J.Shanthi, On ternary cubic Diophantine equation $3(x^2 + y^2) - 5xy + x + y + 1 = 12z^3$, International Journal of Applied Research,vol1,Issue-8,2015, 209-212
8. M.A.Gopalan ,S.Vidhyalakshmi ,J.Shanthi ,On Cubic Equation with Four Unknowns $x^3 + y^3 + 2(x + y)(x + y + 2) = 19zw^2$,International Journal for Mathematics ,Vol 2(3),Pg 1-8,2016

9. M.A.Gopalan ,S.Vidhyalakshmi ,J.Shanthi ,On The Non-homogeneous Cubic Equation with Five Unknowns $9(x^3 - y^3) = z^3 - w^3 + 12p^2 + 16$, International Journal of Information Research and Review (IJIRR) , Vol 3(6), Pg 2525-2528,2016
10. M.A.Gopalan ,J.Shanthi ,On The Non-homogeneous Cubic Equation with Five Unknowns $(a+1)^2(x^3 - y^3) = (2a+1)(z^3 - w^3) + 6a^2 p^2 + 2a^2$, International Journal of Modern Sciences and Engineering Technology (IJMSET) Vol 3(5), Pg 32- 36,2016
11. E.Premalatha, J.Shanthi, M.A.Gopalan On Non - Homogeneous Cubic Equation With Four Unknowns $(x^2 + y^2) + 4(35z^2 - 4 - 35w^2) = 6xyz$, Vol.14, Issue 5, March 2021, 126-129.
12. J.Shanthi,M.A.Gopalan, A search on Non -distinct Integer solutions to cubic Diophantine equation with four unknowns $x^2 - xy + y^2 + 4w^2 = 8z^3$, International Research Journal of Education and Technology,(IRJEdT), Volume2,Issue01, May 2021,27- 32.
13. S.Vidhyalakshmi,J.Shanthi,M.A.Gopalan,"On Homogeneous Cubic equation with four Unknowns $x^3 - y^3 = 4(w^3 - z^3) + 6(x - y)^3$, International Journal of Engineering Technology Research and Management , 5(7) ,July 2021,180-185.
14. S.Vidhyalakshmi,J.Shanthi,M.A.Gopalan, T. Mahalakshmi, " On the non-homogeneous Ternary Cubic Diophantine equation $w^2 - z^2 + 2wx - 2zx = x^3$, International Journal of Engineering Applied Science &Technology, July-2022, Vol-7, Issue-3, 120-121.
15. M.A. Gopalan, J. Shanthi, V.Anbuvali, Obervation on the paper entitled solutions of the homogeneous cubic eqution with six unknowns $(w^2 + p^2 - z^2)(w - p) = (k^2 + 2)(x + y) R^2$, International Journal of Research Publication& Reviews, Feb-2023, Vol-4, Issue-2, 313-317.
16. J.Shanthi, S.Vidhyalakshmi,M.A.Gopalan, On Homogeneous Cubic Equation with Four Unknowns $(x^3 + y^3) = 7zw^2$," Jananabha, May-2023, Vol-53(1), 165-172.
17. J. Shanthi, M.A. Gopalan, Cubic Diophantine equation of the for $Nxyz = w(xy + yz + zx)$, International Journal of Modernization in Engineering Tech &Science, Sep-2023, Vol-5, Issue-9, 1462-1463.
18. J. Shanthi , M.A. Gopalan,"A Search on Integral Solutions to the Non- Homogeneous Ternary Cubic Equation $ax^2 + by^2 = (a + b)z^3, a, b > 0$ ", International Journal of Advanced Research in Science, Communication and Technology, Vol-4, Issue-1,Nov-2024, 88-92.

19. J.Shanthi, M.A.Gopalan, On finding Integer Solutions to Binary Cubic Equation $x^2 - xy = y^3$, International Journal of Multidisciplinary Research in Science ,Engineering and Technology , ,7(11),2024,16816-16820.
20. J.Shanthi ,M.A.Gopalan ,A Classification of Integer Solutions to Binary Cubic Equation $x^2 - xy = 3(y^3 + y^2)$, International Journal of Progressive Research in Engineering Management and Science (IJPREMS) ,5(5),2025,1825-1828.
21. J.Shanthi,M.A.Gopalan, Observations on Binary Cubic Equation $x^2 - 3xy = 4(y^3 + y^2)$, IJARSCT ,5(1),2025,1-5.
22. J.Shanthi, M.A.Gopalan ,On Solving Binary Cubic Equation $x^2 - 4xy = 5y^3 - 3y^2$, IRJEdT ,8(6),2025,139-144.